4)

Cartesian (mincayt = MaXcart

{itee, it =a({i,jtec} +icli—ec j})

3)

2, maxXcary =

Cartesian (mincart

|
I
|
|
: ——  ZLrecurrence
| Pz dzz ................... > fmw$
‘ Yrecurrence
‘ dypgr=7=====-- > fwwy
g I Yrecurrence
\ \ fowa Pz dz?!--gl ------- > feyy
‘ recurrence
\ - Saay Py |dyyr======--~ > fuwy
\ ‘ Zrecurrence
\ I fzyy gz > fa:xz
| recurrence
' recurrence
' } faz dyy[— fyye
f 1 | f ~“recurrence
! | Y TYE Pz |dy fzzz
1 | f Zrecurrence
! | JYYz Py dyz fyzz
! | f Zrecurrence
: rzz Pz d.. fzzz
d | fyzz
: fZZZ fwa:y fyyy fwyz fmzz fzzz
: dzmdwydyydmz dyz dzz R dmz
P : P— ]
5 ‘ B
s P d f g : R Y dyy
I T T B B
: Lol 14 - ___L_L__. ==
- - | [ e e e e T dyz
(a) Hermite (mingeym = mMaxXgerm = 0) | SER———
: dyy oy dyydydyzd. | | | | | | | | | dzz
: fmyy fma:z fyyz fyzz
|
: — === ===
‘ Pz [ T T
‘ [ R T T
|

Algorithm (j major)

do nrecur = 0, maxgary —1
do |.7| = MiNHerm, MAXCart + MaXHerm —Mrecur — 1
do n; = |j], 0, —1
do n;. =0, nj
Trecurrence With 2z = Nrecur
do n; = 0, Nrecur
Yrecurrence with iy =Ny

end do

d do n; = 0, nrecur
do TL; = 0, Nrecur — N
p Zrecurrence with iz =n;
s end do
end do
5P d ! g end do
end do
end do

(b) Hermite (mingerm = 0, maXgerm = 1)
end do




